Annali della Scuola Normale Superiore di Pisa Classe di Scienze

J. R. CANNON

Regularity at the boundary for solutions of linear parabolic differential equations

Annali della Scuola Normale Superiore di Pisa, Classe di Scienze $3^e\,$ série, tome 19, n^o 3 (1965), p. 415-427

http://www.numdam.org/item?id=ASNSP_1965_3_19_3_415_0

© Scuola Normale Superiore, Pisa, 1965, tous droits réservés.

L'accès aux archives de la revue « Annali della Scuola Normale Superiore di Pisa, Classe di Scienze » (http://www.sns.it/it/edizioni/riviste/annaliscienze/) implique l'accord avec les conditions générales d'utilisation (http://www.numdam.org/conditions). Toute utilisation commerciale ou impression systématique est constitutive d'une infraction pénale. Toute copie ou impression de ce fichier doit contenir la présente mention de copyright.



Article numérisé dans le cadre du programme Numérisation de documents anciens mathématiques http://www.numdam.org/

REGULARITY AT THE BOUNDARY FOR SOLUTIONS OF LINEAR PARABOLIC DIFFERENTIAL EQUATIONS (*)

J. R. CANNON (a Genova)

SUMMARY: At the boundary solutions of linear parabolic differential equations are shown to be Holder continuous if the boundary data is Holder continuous. Moreover, this continuity of the solution is independent of hypothesis of continuity of the coefficients of the parabolic operator.

1. Introduction. Regularity at the boundary for solutions of linear parabolic differential equations has been obtained in the form of Schauder's estimates [2]. However, to obtain these estimates the coefficients of the operator were assumed to be Holder continuous and the boundary was assumed to be smooth. In this paper the continuity restrictions upon the coefficients will be removed in obtaining Holder continuity of the solution at the boundary for Holder continuous boundary data. Also, the boundary smoothness will be lightened. The principle method employed will be the use of the maximum principle. It should be emphasized that the Holder continuity obtained here is only at the boundary.

Pervenuto alla Redazione il 5 Maggio 1965.

^(*) This work was accomplished while the author held a N.A T.O. postdoctoral fellowship at the Università di Genova. The author dedicates this work to the memory of his good friend and fellow mathematician, John W. Calkin, who died August 4, 1964.

that u(x, t) is a bounded solution of

(1)
$$Lu = \sum_{i, j=1}^{n} a_{ij}(x, t) \frac{\partial^{2} u}{\partial x_{i} \partial x_{j}} + \sum_{i=1}^{n} b_{i}(x, t) \frac{\partial u}{\partial x_{i}} + c(x, t) u$$
$$-\frac{\partial u}{\partial t} = f(x, t), \quad (x, t) \text{ in } D,$$

 $u(x, t) = \varphi(x, t), (x, t) \text{ in } \partial D,$

where a_{ij} , b_i , c, and f are real valued measurable functions in D, φ is a continuous real valued function in ∂D , and these functions satisfy the following inequalities uniformly over their respective domains of definition:

$$|\varphi| \leq M, -\gamma \leq c \leq 0, |b_i| \leq B,$$

$$|f| \leq F, \text{ and}$$

$$0 < \alpha \leq \sum_{i,j=1}^{n} a_{ij} \lambda_i \lambda_j \leq A \text{ for}$$

$$|\lambda|^2 = \sum_{i=1}^{n} \lambda_i^2 = 1 (\lambda_i \text{ real}).$$

The paper is divided quite naturally into three distinct parts by the three distinct parts of the boundary ∂D . First, the continuity of u(x,t) will be studied at a point of $\Omega \times \{0\}$; then, at a point of $\partial \Omega \times \{0,T\}$; and finally, at a point of $\partial \Omega \times \{0\}$. In each case the construction of a new barrier function or the modification of a previously used barrier function will be necessary.

The author is indebted to Carlo Pucci for many helpful suggestions. Indeed, a portion of Pucci's treatment of the continuity at the boundary for solutions of elliptic equations [3] has proved useful here and with some modifications is reproduced below (see (16)-(31)).

2. Continuity of u(x, t) at a point of $\Omega \times \{0\}$. Consider the following theorem.

THEOREM 1: Suppose that at $(x_0, 0)$ $(x_0 \in \Omega)$,

$$|\varphi(x,0)-\varphi(x_0,0)| \leq H|x-x_0|^{\lambda}, \ 0 < \lambda \leq 2,$$

for all x in $\overline{\Omega}$. Then, there exists a constant K which depends only upon M, γ , B, F, A, T, λ , n, and

(4)
$$\delta = \min (\operatorname{dist} (x_0, \delta \Omega), 1)$$

such that for (x, t) in D,

(5)
$$|u(x,t) - \varphi(x_0,0)| \le K(|x-x_0|^2 + t)^{\frac{\lambda}{2}}$$

PROOF: Consider the function

(6)
$$v(x,t) = |x - x_0|^2 + \mu t, \quad \mu > 0.$$

As is well known [2], for $|x - x_0| < \delta$ and $0 < t \le T$,

$$(7) Lv < -1$$

when $\mu > 1 + 2nA + 2nB\delta$, which implies that v(x, t) is a local barrier at the point $(x_0, 0)$. For $\lambda = 2$ and

(8)
$$\sigma = \max\left(\frac{2M}{\delta^2}, H, F + \gamma M\right),$$

the functions

(9)
$$w^{\pm}(x,t) = \sigma v(x,t) \pm (u(x,t) - \varphi(x_0,0))$$

satisfy

(10)
$$Lw^{\pm} < 0, \quad 0 < t \le T, \quad |x - x_0| < \delta,$$

and

$$(11) w^{\pm} > 0$$

for
$$|x - x_0| = \delta$$
, $0 \le t \le T$ and $|x - x_0| < \delta$, $t = 0$.

By the maximum principle,

(12)
$$w^{\pm} \ge 0, \ 0 \le t \le T, \ |x - x_0| \le \delta,$$

which implies that

$$(13) \qquad |u(x,t) - \varphi(x_0,0)| \le \sigma v(x,t)$$

for $0 \le t \le T$ and $|x - x_0| \le \delta$. Hence, for $\lambda = 2$, (5) follows from (13).

Now, consider the case of $0 < \lambda < 2$. For all $\epsilon > 0$, a function $g(\epsilon) \ge 1$ will be found such that for $|x - x_0| \le \delta$

(14)
$$H \mid x - x_0 \mid^{\lambda} \leq \varepsilon + g(\varepsilon) \sigma v(x, 0).$$

Then, it will follow that for all $\varepsilon > 0$ the functions

(15)
$$w^{\pm}(x, t, \varepsilon) = \varepsilon + g(\varepsilon) \sigma v(x, t) \pm (u(x, t) - \varphi(x_0, 0))$$

will satisfy (10), (11), (12), and the obvious modification of (13). The result (5) will then follow from a careful analysis of the function $\varepsilon + g(\varepsilon) \sigma v(x, t)$ as a function of ε .

Set $r = |x - x_0|$ and consider the inequality (14) written in terms of r as

(16)
$$Hr^{\lambda} \leq \varepsilon + g(\varepsilon) \sigma r^{2}.$$

Solving for $g(\varepsilon)$,

(17)
$$g(\varepsilon) \geq H \sigma^{-1} r^{\lambda-2} - \varepsilon \sigma^{-1} r^{-2}.$$

For fixed ε the function of r on the right hand side of (17) assumes its maximum value for all r > 0 at the point

(18)
$$r = (2(2-\lambda)^{-1}H^{-1}\epsilon)^{\frac{1}{\lambda}}.$$

Substituting this value of r, it follows that

(19)
$$\sigma^{-1} \lambda (2 - \lambda)^{-1} (H 2^{-1} (2 - \lambda))^{\frac{2}{\lambda}} \epsilon^{\frac{\lambda - 2}{\lambda}} = K_1 \epsilon^{\frac{\lambda - 2}{\lambda}} \ge K_1 \epsilon^{-1} r^{\lambda - 2} - \epsilon \sigma^{-1} r^{-2}$$

for all r > 0. Hence for

(20)
$$g(\varepsilon) = \max\{1, K_1 \varepsilon^{\frac{\lambda-2}{\lambda}}\},$$

it follows that for every $\varepsilon > 0$, (16) is valid which implies by the maximum principle that

(21)
$$|u(x,t) - \varphi(x_0,0)| \leq \varepsilon + g(\varepsilon) \sigma v(x,t)$$

for every $\varepsilon > 0$ and for $|x - x_0| \le \delta$ and $0 \le t \le T$. Consider the function

(22)
$$h(\varepsilon) = \varepsilon + g(\varepsilon) \circ v(x, t).$$

For

$$(23) 0 < \varepsilon \le K_1^{\frac{\lambda}{\lambda-2}},$$

$$g\left(\varepsilon\right) = K_{1} \, \varepsilon^{\frac{\lambda-2}{\lambda}}.$$

Restricting ε to the interval $0<\varepsilon\leq K_1^{\frac{\lambda}{\lambda-2}},$ it is desirable to minimize

(25)
$$h(\varepsilon) = \varepsilon + v(x,t) K_2 \varepsilon^{\frac{\lambda-2}{\lambda}}$$

as a function of ε for fixed (x, t). Considering the function for all ε , its minimum occurs at

$$\varepsilon\left(x,t\right)=\left|\left(\frac{2-\lambda}{\lambda}\right)K_{2}\,v\left(x,t\right)\right|^{\frac{\lambda}{2}}=K_{3}\left[v\left(x,t\right)\right]^{\frac{\lambda}{2}}.$$

Consequently, for (x, t) such that

$$(27) 0 < v(x, t) \le (K_3^{-1} K_1^{\frac{\lambda}{\lambda - 2}})^{\frac{2}{\lambda}},$$

it follows that

$$(28) 0 < \varepsilon(x, t) \le K_1^{\frac{\lambda}{\lambda - 2}}.$$

Thus, under the restrictions (23) and (27), it follows from (21) that

$$\left|u\left(x,t\right)-\varphi\left(x_{0},0\right)\right|\leq h\left(\varepsilon\left(x,t\right)\right)=K_{4}\left[v\left(x,t\right)\right]^{\frac{\lambda}{2}}.$$

Since

$$|u\left(x,t\right)-\varphi\left(x_{0},0\right)|\leq2M$$

for (x, t) such that

$$(K_3^{-1} K_1^{\frac{\lambda}{1-2}})^{\frac{2}{\lambda}} \le v(x,t),$$

the result (5) follows from a simple replacement of K_4 by a larger constant K_5 .

REMARK: The restriction on λ in (3) arises naturally out of the fact that the continuity cannot be better than Lipschitzian in t for non-zero c

and f. For example, consider the bounded solution of

$$\frac{\partial^2 v}{\partial \zeta^2} - v - \frac{\partial v}{\partial t} = 1, \quad -\infty < \zeta < \infty, \quad 0 < t,$$

$$v(\zeta, 0) = \begin{cases} 1, & -\infty < \zeta \le -1, \\ \zeta^4, & -1 < \zeta < 1, \\ 1, & 1 \le \zeta < \infty, \end{cases}$$

in a neighborhood of (0, 0). The restriction on λ can be removed by removing c and f.

THEOREM 2: For $c(x, t) \equiv f(x, t) \equiv 0$ and

$$|\varphi(x,0) - \varphi(x_0,0)| \le H |x - x_0|^{2+2\nu}, \nu > 0 (x_0 \in \Omega),$$

there exists a constant K which depends only upon M, B, A, T, ν , n and δ such that for (x, t) in D,

$$|u(x,t)-\varphi(x_0,0)| \leq K(|x-x_0|^2+t)^{1+\nu}.$$

PROOF: Consider

(35)
$$v(x,t) = (|x-x_0|^2 + \mu t)^{1+\nu}, \quad \mu > 0.$$

Now, for $|x - x_0| \le \delta$ and $0 < t \le T$,

$$(36) Lv = (1+r)(|x-x_0|^2 + \mu t)^r \cdot \\ \cdot \left\{ (|x-x_0|^2 + \mu t)^{-1} 4r \sum_{i,j=1}^n a_{ij} (x_i - x_{i0}) (x_j - x_{j0}) + \\ + 2 \sum_{i=1}^n (b_i (x_i - x_{i0}) + a_{ii}) - \mu \right\} \le (1+r)(|x-x_0|^2 + \mu t)^r \cdot \\ \cdot \left\{ \frac{4 r A |x-x_0|^2}{|x-x_0|^2 + \mu t} + 2n B\delta + 2nA - \mu \right\} < 0$$

when $\mu > 2nA + 2nB\delta + 4rA$. Hence, the result (34) follows from an argument similar to that of Theorem 1, (8) – (13).

3. Continuity of u(x, t) at a point of $\delta \Omega \times (0, T]$. The bounded solution $v(\zeta, t)$ of

 $v(\zeta,0) = Ht_0^{\lambda}, \quad 0 \le \zeta < \infty, \quad \lambda > 0,$

$$egin{align} rac{\partial\,v}{\partial\,t} &= k\,rac{\partial^2\,v}{\partial\zeta^2}\,,\quad 0<\zeta<\infty,\quad 0< t\leq t_0\,, \ v\left(0,\,t
ight) &= H\,(t_0-t)^{\lambda},\quad 0\leq t\leq t_0\,,\quad H>0, \ \end{array}$$

is given by the formula

(38)
$$v(\zeta,t) = Ht_0^{\lambda} - \int_0^t \frac{\partial M(\zeta,k(t-\tau))}{\partial \zeta} \left[H(t_0-\tau)^{\lambda} - Ht_0^{\lambda}\right] k d\tau,$$

where

(37)

(39)
$$M(\xi, \sigma) = \pi^{-\frac{1}{2}} \sigma^{-\frac{1}{2}} \exp\left\{\frac{-\xi^2}{4\sigma}\right\} \quad \sigma > 0.$$

Lemma 1: For $0 \le \zeta \le \zeta_0 < 1$, there exist constants K_1 , K_2 , and K_3 which depend only upon k, H, t_0 , λ and ζ_0 such that

$$(40) \qquad v(\zeta, t_0) \leq \begin{cases} K_1 \zeta^{2\lambda}, & 0 < \lambda < \frac{1}{2}, \\ K_2 \zeta \mid \log \zeta \mid, & \lambda = \frac{1}{2}, \\ K_3 \zeta, & \lambda > \frac{1}{2}. \end{cases}$$

PROOF. The proof follows from elementary estimations of the formula (38) and is therefore omitted.

LEMMA 2; For $0 < \zeta < \infty$ and $0 < t < t_0$,

$$|v(\zeta,t_0)-v(\zeta,t)| \leq H(t_0-t)^{\lambda}, \quad 0<\lambda \leq 1.$$

PROOF: By the maximum principle, it follows that

(42)
$$\left| \frac{\partial v}{\partial t} \left(\zeta, t \right) \right| \leq \lambda \, H (t_0 - t)^{\lambda - 1} \, .$$

Hence, the result (41) follows from an elementary quadrature.

10. Annali della Scuola Norm. Sup. · Pisa.

Since $v(\zeta, t)$ will be part of the barrier function used in this section, the following lemma is of interest.

LEMMA 3. If $0 < \lambda \le 1$,

(43)
$$0 < k < 1$$
, and $0 < k < \beta^2 (1 + 2\pi^{-\frac{1}{2}} t_0^{\frac{1}{2}} B)^{-2}$,

then

(44)
$$\beta \frac{\partial^2 v}{\partial \zeta^2} + B \frac{\partial v}{\partial \zeta} \leq z (\zeta, t)$$

for $0<\zeta<\infty$ and $0\leq t\leq t_0$, where β and B are positive constants and where $z\left(\zeta,t\right)$ is the bounded solution of

$$\begin{split} \frac{\partial z}{\partial t} &= k \; \frac{\partial^2 z}{\partial \zeta^2}, \quad 0 < \zeta < \infty, \quad 0 < t \le t_0 \;, \\ z \; (0,t) &= - \lambda H \, (t_0 - t)^{\lambda - 1}, \quad 0 \le t < t_0 \;, \\ z \; (\zeta,0) &= 0, \quad 0 < \zeta < \infty \;. \end{split}$$

PROOF: It follows from (38) that $\frac{\partial v}{\partial \zeta}$ and $\frac{\partial^2 v}{\partial \zeta^2}$ are bounded solutions of the heat equation with diffusivity k for $0 < \zeta < \infty$ and $0 < t < t_0$. Moreover, both functions are equal to zero for $0 < \zeta < \infty$ and t = 0. Now, it can be shown [1, pp. 189-190] that

(46)
$$\frac{\partial v}{\partial \zeta}(0,t) = \int_{0}^{t} \frac{\lambda H(t_0 - \tau)^{\lambda - 1}}{\sqrt{\pi k(t - \tau)}} d\tau$$

and that

(47)
$$\frac{\partial^2 v}{\partial \zeta^2}(0,t) = -k^{-1} \lambda H(t_0 - t)^{\lambda - 1}.$$

Hence, it follows that

$$\beta \frac{\partial^2 v}{\partial \zeta^2}(0,t) + B \frac{\partial v}{\partial \zeta}(0,t) \le \lambda H (t_0 - t)^{\lambda - 1} .$$

$$\cdot \{2B\pi^{-\frac{1}{2}} t_0^{\frac{1}{2}} k^{-\frac{1}{2}} - \beta k^{-1}\} < -\lambda H (t_0 - t)^{\lambda - 1},$$

whenever k satisfies the conditions in (43). For such a k, (44) follows from the maximum principle.

Consider now the main subject of this section.

THEOREM 3: Suppose that Ω is bounded with diameter l. Suppose that at (x_0,t_0) $(x_0\in\delta\Omega)$ and $0< t_0\leq T$,

$$\left| \varphi \left(x,t \right) - \varphi \left(x_0\,,\,t_0 \right) \right| \leq H \left(\left| \, x - x_0 \, \right|^{\lambda_1} + (t_0 - t)^{\lambda_2} \right),$$

$$0 < \lambda_1 \leq 2, \quad 0 < \lambda_2 \leq 1,$$

for all (x,t) in $\delta \Omega \times (0,t_0]$. Suppose also that x_0 is a point on $\delta \Omega$ such that there exists a sphere

(50)
$$S = \{x : |x - \xi'| < 2\varrho\}$$

such that $\overline{S} \cap \overline{\Omega} = \{x_0\}$. Then, there exist constants K_0 , K_1 , K_2 , K_3 and K_4 which depend only upon M, γ , B, F, α , A, t_0 , λ_1 , λ_2 , n and l such that for $\frac{t_0}{2} \le t \le t_0$, $|x-x_0| < e^{-1}$, and (x,t) in $\Omega \times (0,t_0]$,

$$\left| K_{1} | x - x_{0} |^{2\lambda_{2}}, \quad 0 < \lambda_{2} < \frac{1}{2}, \\ K_{2} | x - x_{0} | \log |x - x_{0}|, \quad \lambda_{2} = \frac{1}{2} + K_{3} |x - x_{0}|, \quad \frac{1}{2} < \lambda_{2} \le 1,$$

PROOF: Set

(52)
$$\xi = \frac{1}{2} (x_0 + \xi')$$

and consider

(53)
$$y(x) = e^{-\mu e^{x}} - e^{-\mu |x - \xi|^{2}}, \quad \mu > 0.$$

By differentiation, it follows that

(54)
$$Ly < -\mu e^{-\mu(l+\varrho)^2}, (x,t) \text{ in } \Omega \times (0,t_0],$$

when μ is chosen so that

(55)
$$4\alpha \rho^2 \mu = 1 + 2nA + 2nB(l + \rho).$$

Note that $y(x_0) = 0$ and y(x) > 0 for x in $\overline{\Omega} - \{x_0\}$. Moreover, for

(56)
$$\zeta = \left[\sum_{i=1}^{n} (x_i - \xi_i)^2 \right]^{\frac{1}{2}} - \varrho,$$

it follows that for (x, t) in $\Omega \times (0, t_0]$,

(57)
$$Lv(\zeta,t) = \frac{\partial^{2}v}{\partial\zeta^{2}} \left\{ \sum_{i,j=1}^{n} a_{ij} \frac{(x_{i} - \xi_{i})(x_{j} - \xi_{j})}{|x - \xi| |x - \xi|} - k \right\} +$$

$$+ \frac{\partial v}{\partial\zeta} \left\{ \sum_{i=1}^{n} \left(\frac{a_{ii}}{|x - \xi|} + \frac{b_{i}(x_{i} - \xi_{i})}{|x - \xi|} \right) - \frac{1}{|x - \xi|} \sum_{i,j=1}^{n} a_{ij} \frac{(x_{i} - \xi_{i})(x_{j} - \xi_{j})}{|x - \xi| |x - \xi|} \right\} +$$

$$+ cv(\zeta, t) < z(\zeta, t) < 0$$

for k such that

$$(58) 0 < k < \frac{\alpha}{2}, \quad 0 < k < 1,$$

and

(59)
$$0 < k < \alpha^2 4^{-1} \left(1 + 2 \pi^{-\frac{1}{2}} t_0^{\frac{1}{2}} \left[\frac{nA}{\varrho} + \frac{nB (l + \varrho)}{\varrho} \right] \right)^{-2},$$

where $v(\zeta, t)$ is defined by (38) with λ replaced by λ_2 , $z(\zeta, t)$ is the bounded solution of (45) with the same replacement of λ , and the conditions on k are those needed to apply Lemma 3.

Let

(60)
$$\sigma = \min_{\substack{0 \le \zeta \le l \\ \frac{1}{2} t_0 \le t \le t_0}} |z(\zeta, t)| > 0,$$

and let

(61)
$$\sigma_1 = \max\left(\frac{2^{1+\lambda_2}M}{Ht_a^{\lambda_2}}, \frac{F+\gamma M}{\sigma}, 1\right).$$

Set

(62)
$$w^{\pm}(x, t, \varepsilon) = \varepsilon + g_1(\varepsilon) y(x) + \sigma_1 v(\zeta, t) \pm (u(x, t) - \varphi(x_0, t_0)),$$

where for all $\varepsilon > 0$, $g_1(\varepsilon)$ is the obvious modification of $g(\varepsilon)$ defined by (24). From the previous paragraph and (61), it follows that

(63)
$$Lw^{\pm} < 0, (x, t) \text{ in } \Omega \times \left(\frac{1}{2} t_0, t_0\right].$$

Next, for $\zeta = 0$ and $\frac{1}{2} t_0 \le t \le t_0$,

$$(64) H(t_0-t)^{\lambda_2} \leq \sigma_1 v(0,t),$$

and at $\zeta = 0$ and $t = \frac{1}{2} t_0$,

$$(65) 2M \leq \sigma_1 v \left(0, \frac{1}{2} t_0\right).$$

Since $\frac{\partial v}{\partial \zeta} > 0$, it follows that for $0 \le \zeta \le l$ and $\frac{1}{2} t_0 \le t \le t_0$,

$$(66) H(t_0 - t)^{\lambda_2} \leq \sigma_1 v(\zeta, t)$$

and that

(67)
$$2M \leq \sigma_i v \left(\zeta, \frac{1}{2} t_0 \right).$$

Finally, from (53) it can be shown that there exist positive constants μ_1 and μ_2 such that for any x in Ω ,

(68)
$$\mu_1 |x - x_0|^2 \le y(x) \le \mu_2 |x - x_0|.$$

Consequently, from the argument of Theorem 1, (16), ..., (19), it follows that for all $\varepsilon > 0$,

(69)
$$H \mid x - x_0 \mid^{\lambda_1} \leq \varepsilon + g_1(\varepsilon) y(x), \quad x \text{ in } \overline{\Omega}.$$

Thus, from (66), (67), and (69), it follows that $w^{\pm} \geq 0$ for (x, t) in $\partial \Omega \times \left\{\frac{1}{2} t_0, t_0\right\}$ and for (x, t) in $\overline{\Omega} \times \left\{\frac{1}{2} t_0\right\}$. Hence, from (62) and the maximum principle, $w^{\pm} \geq 0$ in $\overline{\Omega} \times \left[\frac{1}{2} t_0, t_0\right]$; i. e., for (x, t) in $\overline{\Omega} \times \left[\frac{1}{2} t_0, t_0\right]$,

$$|u(x,t)-\varphi(x_0,t_0)| \leq \varepsilon + g_1(\varepsilon)y(x) + \sigma_1v(\zeta,t).$$

From $\varepsilon + g_1(\varepsilon) y(x)$, the first term $K_0 | x - x_0|^{\frac{\lambda_1}{2}}$ in the result (51) follows from a similar argument to that of Theorem 1, (22), ..., (31). Writing

$$(71) v(\zeta,t) = [v(\zeta,t) - v(\zeta,t_0)] + v(\zeta,t_0)$$

the term $K_4(t_0-t)^{\lambda_2}$ in (51) follows from Lemma 2. Finally, estimating $v(\zeta,t_0)$ by Lemma 1, the second term on the right hand side of equation (51) follows from the monotonicity of the functions $\zeta^{2\lambda_2}$, $\zeta \mid \log \zeta \mid (0 < \zeta < e^{-1})$, and ζ and the fact that

(72)
$$\zeta = \left[\sum_{i=1}^{n} (x_i - \xi_i)^2 \right]^{\frac{1}{2}} - \varrho \le |x - x_0|.$$

REMARK: In the case of n=1, the continuity obtained is simply that of the heat equation expressed in Lemmas 1 and 2. Also, for the case of $\varphi\left(x,t\right)\equiv\varphi\left(t\right)$ for (x,t) in $\partial\Omega\times\left(0,t_{0}\right]$, the term $K_{0}\mid x-x_{0}\mid^{\frac{\lambda_{1}}{2}}$ is eliminated from the result (51) leaving the continuity terms arising from the heat equation.

4. Continuity of u(x, t) at a point of $\partial \Omega \times \{0\}$. The statement of the following theorem will essentially complete the present discussion of the continuity at the boundary.

THEOREM 4: Retaining the hypothesis of Theorem 3 concerning Ω and $x_0 \in \partial\Omega$, suppose that at $(x_0, 0)$,

(73)
$$|\varphi(x,t) - \varphi(x_0,0)| \le H(|x-x_0|^{\lambda_1} + t^{\lambda_2}), \ 0 < \lambda_1 \le 2, \ 0 < \lambda_2,$$

for all (x, t) in $\delta \Omega \times (0, T] \cup \overline{\Omega} \times \{0\}$. Then, there exists a constant K which depends only upon M, γ , B, F, α , A, λ_1 , λ_2 , n and l such that for (x, t) in D,

$$|u(x,t) - \varphi(x_0,0)| \le K(|x-x_0|^{\frac{\lambda_1}{2}} + t^{\lambda_2}).$$

PROOF: The proof is similar to those of Theorem 1 and 3, where in this case

(75)
$$w^{\pm}(x, t, \varepsilon) = \varepsilon + g_2(\varepsilon) \sigma_2 y(x) + Ht^{\lambda_2} \pm (u(x, t) - \varphi(x_0, 0)),$$

 $g_2\left(\varepsilon\right)$ is an obvious modification of $g\left(\varepsilon\right)$ defined by (20), and σ_2 is a sufficiently large positive constant.

Remark: For the case $n=1, \lambda_1$ is not divided by 2 since $x^{\lambda_1}+t^{\lambda_2}$ is a local barrier at the origin, if $\lambda_1 < 1$ or $\lambda_2 < 1$.

REFERENCES

- [1] CANNON, J. R., Determination of certain parameters in heat conduction problems, Journal of Mathematical Analysis and Applications, Vol. 8, No 2, (1964), pp. 188-201.
- [2] FRIEDMAN, A., Partial Differential Equations of Parabolic Type, Prentice-Hall, Inc., 1964.
- [3] Pucci Carlo, Lectures on Cauchy Problems and Elliptic Equations, Nat. Sci. Found. Summer Inst. in Appl. Math., Rice University 1963, pp. 82-88.
- [4] Pucci Carlo, Regolarità alla frontiera di soluzioni di equazioni ellittiche, Ann. Mat. Pura Appl. (4) 65 (1964), pp. 311-328.